1500
== _
| 562 A
,,,,,,,,,,,,,,,,, ‘,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,u B,
{7 S|
| o S 1
| HS700 < © j
L 1B ‘
A : A 3
| | | 4-R10 3
loe—— )|
B R I D B o, | A
<im
40 670 59 562 169
————————————————————————————————————————————————————————————————————————————— 3
| |
| |
| |
| |
SecA-A 670
RUDL & ARE TS BREES BREEH RUDL & ARE TS
N _ ©O
7 % 2|
EREH(L15) EREEH(L15)
ft£EB(SUZ t1.6) £ B (SUZt1.6)

M4x6 FNFENRD

M4x6 FNEENRD

7

FABBRICA

SecB-B

- RGN N
=\ LN : ,L\'_
om = N =
= 5 2
o X 5 2 ¢
= I ® 1N
RN b #H| ©
D R A
2|7 /;};
R
‘”ﬁ
o
HE
3 #
o
o
<
m 7
.
HE
1
\l‘?
%:D\\
o
© % slooa
ﬂr g
8 ﬁ o 2
B Xz 2 v B
2 £ @ 3 ¥
N # o b
g L22)&l § g
% g =
TITLE HS700s>4-D600 (L) Enft&X
SCALE 1/2,1/10
FA-HS700-18010019

YO S H | M OTO DRAWING NUMBER




1500
ﬁm
562 | N
| “-u
e, e : b
7 1 3| h
O . . (@) i
< 1 HS700 | | © |
| A A S 4
A ! A ::
4-R10 | | ;
IS = i
L
IR <3 O A i
<im
169 562 59 670 4
| | |
| | |
| | |
| | |
SecA-A 670
RUDL &> BiBEFR ERRAA ERRAA RUDL &> iR FR
© AN N7
e et TS
EHBH(115) EHBH(115)
£ EB(SUZt1.6) Bft£E(SUZ t1.6)

M4x6 FNEENRD

M4x6 FNEENRD

FABBRICA
YOS H | M OTO DRAWING NUMBER FA-HS700-18010020

SecB-B

21
" BUERCHIEN
wn : 4}—
om -o‘_-: N =
= = D &
o E £l 2 @?
— { Pl I N
2 LIRE-1R-
.:'—2 Z/ = =
=
‘”ﬁ
o
HE
3 #
o
o
<
R
e 7
.
HE
1
N
o
© | = N
m[ | P G A
~ = ~
b o BB =
& A = @ O3 &
S g O 2 ¥
2 - I (-
2 22 | w g 3
¥ &
TITLE HS700:>42D600(R) ERftH
SCALE 1/2,1/10




1500
éim
| 562
,,,,,,,,,,,,,,,,, e
— 3|
{ /- .
| HS700 <
L 1B
A A
| | | 4-R10
le— )|
B I D O D &, |
<im
40 670 59 562 169

SecA-A

670

RUDL &R FIE

EREEH

EREEH

650

y

RUDL &R FIE

HEREM(115)

&£ E8(SUZt1.6)

M4x6 FNFENRD

—

15

21

HEREM(115)

&£ 8(SUZt1.6)

M4x6 FNEENRD

FABBRICA
YO S H | M OTO DRAWING NUMBER

SecB-B

21
— A N : "\I_
Um E N {I
& £ 3| B
AN Fi E—
N g @ b
2 o %
) & 2
£ ‘/
o
LN
© R
Hu
.
HE
1
o
o
<
m 7
.
HE
1
o
(Co]
P % © ,‘,\1
i ol B Z =
& # of
g L2 &l £ ¢
% B =
TITLE HS700:>4-D650(L) Enft=
SCALE 1/2,1/10
FA-HS700-18010021




SecB-B

21
1500 ,_1
ﬁm
562 |
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, I
il 3|
| | | o -
© | | | @ 3| = BRI
< | HS700 | | - K 2 = 2
X3 o N N : B
A ‘ A 2 11
) ; \ 3 4
& | J ':T? N & =
QO | | [ ———————————————— /
L S o O L _
<im
169 562 59 670 4
o
LN
© &
Hu
A ‘ -
\ \ \ o
| | |
| | | %
| | | _
ﬁﬁ 7
.
T
1
\%
SecA-A 670 «© i : 3 2
ol ® o 2
RUDL &> #IsFiE BREEN BREEN RUDL &> HiIsiE = N = 30N ra}
SRR _ SRR i £ 3
Zl N 3 |
(o] . ) ‘ . D 22 17‘ >
EHEM(15) EEEM(115)
Hft4£8(SUZt1.6) Ht4LE(SUZt1.6)
M4x6 FNEE/NRD M4x6 FNEE/NRD
TITLE HS700:>-D650(R) BERftH

M
‘ FABBRICA scaLe 1/2,1/10
YOS H | M OTO DRAWING NUMBER FA-HS700-18010022




1500
ﬁm
r- - - - - - -~ ‘ 77777777777777777777777777777777777777777777777777777777777777 7
1 |
1 |
1 |
1 |
| |
3 | 562
i R — ‘ """"""""""""""""""""""""""" : E
g | °’
i | o
} | HS700 3 ¥
7 S c— T
}A ! PA
- | | 4-R10
= )|
e L] 8 |
=im
40 670 59 562 169
i i
| | |
| | |
| | |
| | |
SecA-A 670
RUSL & RE 7 1E BREER BRREH RUSL & RE 7 1E
§ A ™ / _ ©
7N\ J &7 Bt
E®BH(115) E#BH(115)
E{t4£E(SUZ t1.6) Exft& B (SUZ t1.6)

M4x6 FNFENRD

M4x6 FNEENRD

7

FABBRICA

SecB-B

) R

g
S
o
ﬂk s N
2 ol o) &
& =1 T
A B o T
2 & & w
< {3\ B @l o
= B '] X%
¥ / & =
K
R
@
o
HE
N &
o
o
<
m 7
.
HE
1 l‘?
%:D\\
o
(o]
= % a| 2
b X = gl 5 B
X iy 2] ¥
N & of| b
B |22 | m & 3
¥ B =
TITLE HS7003>4-D970(L) Bt
SCALE 1/2,1/10
FA-HS700-18010023

YO S H | M OTO DRAWING NUMBER




1500

SecB-B
—m 22
~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~ — ]
\ 1 e
: ‘ 7 8
\ 1 it
| & /A I
: ! om n P ','\I_
| 1 s S Y B
‘ ! A B oo T
| 1 8 8 I 1
562 | ; D w &g
i | *® ; | =
e — E— X Q
7 — >
S | :
¥ | HS700 | X g
A ; A ~ ii3
| | K o e
4-R10 1L | J
A N e [ ! <
< - Ol
169 562 59 670 4 i
E
o
[T T ] 5
| | |
| | o
| | | 7 o Q »
| | | K G| #] =| £
: : = I T
‘ ‘ i ¥ T 2| ¥
N & of| b
8 |22 | ® % ¢
SecA-A 670 *® =
RUSL & IS FIE EREEH EREEH RUSL & IS FIE
_ A \\ J/\ y
~ |
- 7 7
EREH(L15) EREH(L15)
Hft £ B (SUZ t1.6) Hft £ E(SUZ t1.6)
M4x6 FNEE/NRD M4x6 FNEE/NRD
TITLE HS700<>2D970 (R) Bv{t

M
‘ FABBRICA ScALE 1/2,1/10
YOS H | M OTO DRAWING NUMBER FA-HS700-18010024




	HS700_600L
	HS700_600R
	HS700_650L
	HS700_650R
	HS700_970L
	HS700_970R

